Phenotype Data Analysis Plots

PhenoData day range
Analysis cutoff day
NC11 P3-2

2025-05-10 (Day 42)

12 — 41
41




TrussNodeMaxPerStem (Def=6.0 Set=6)

1¥§136. “0%_avg2=na

rimlrLiss

1 2 3 4
Object Number




FruitNumAvgPerTruss (Def=15 Set=4)
avgl1=4.0722% avg2=na

p3-2

- ———@——— @ —————————— -

0 2 4 6

Object Number

10

TrimFr

FruitNumMaxPerTruss (Def=na Set=6)

avgl1=6.0716% avg2=na

4 6 8 10
Object Number



LfL_avgAbsY (Def=na Set=33.5)
avg1=33.5713% avg2=na

40 - ®
o
e e e @ e o
30
(9]
& 20 -
o
10
0_
T T T T T
0 2 4 6 8 10
Object Number
LfW_Q90AbsY (Def=30 Set=37.5)
avg1=37.5727% avg2=na
()
40 ___.___.._ _________________
20
0_
0 2 4 6 8 10

Object Number

LfW_avgAbsY (Def=na Set=37.5)
RBe123PHer2d% tavig2=na

¢
®
40 ~
- ———p——— & ———————————————
20 A
O -
T T T T T
0 2 4 6 8 10
Object Number
LfA avgAbsY (Def=na Set=0.04)
avg1=0. 04"42% avg2=na
¢
0. 06 -
®
0.4 ———@~———F-mmmmmmm e
0. 02 -
0. 00 ~
0 2 4 6 8 10

Object Number

LfL_Q90AbsY (Def=40 Set=33.5)
avg1=33.5713% avg2=na

40
o
=@ —————
30 A
20 A
10
0_
T T T T T
0 2 4 6 8 10
Object Number
LfA_Q90AbsY (Def=0.04 Set=0.04)
avgl1=0. 04" 42% avg2=na
0. 06
o
R e
0. 02 +
0. 00
0 2 4 6 8 10

Object Number



UF

UF

P3-2-16-21 (fit failed)

20

15 4

10 4

BDOL [0.54, 0.1, 14.07, 0.99]

—

-~
/

/

P

”““““‘::::::\t::f:“‘

T T T
0 10 20 30 40

20

15 1

10

BDL [0.54, 3.75, 7.08, 0.99]

P3-2-55-28 (fit failed)

17.

15.

12.

10.

P3-2-24-N3N(fit failed)

O

2I0 3I0
P3-2-9-8 (fit failed)

20 -

15 4

10 4

BDL [0.54, 0.1, 23.95, 0.99]

P3-2-40-6 (fit failed)

20 A
BDL [0.55, 0.1, 20.01, 1.0] ')éfaf’
15 - /
4

10 - er/”tr////
N -/-4(4///)3"/‘
0
0_"____—_____;;::-\___"___
_1 T T T T T

0 10 20 30 40



P3-2avg éjﬁt failed)

20 A

15 4

10 4

BDL [0.56, 0.1, 19.32, 1.0] /




a (Def=0.56 Set=0.56) dm (Def=2 Set=0.1) de (Def=5 Set=19. 32)

avg1=0. 54 (fail) avg2=0.56 avg1=|1_.’.q()_19(fﬁid“ avg2=0. 1 avgl=16. 28 (fail) avg2=19. 32
4 -
25 -
________ =TT ===g=-= === O O
3 20 e 1O PSR
15 1
2
10 A
1 e v ——— —— — —— —— —— — —— —— — — — — O
5
0 fF-——e--- @=mmm——- Om—m = 0
T T T T T T T T T T T T T T T
0 1 2 3 4 5 6 0 1 2 3 4 5 6 0 1 2 3 4 5 6

Object Number Object Number Object Number



InitDev_dm (Def=2 Set=0.5)
avg1=0.570% avg2=0.5

p3-2
2.0
1.5 4
1.0 -
0.5+ —-0-——-@——-9——-6-- - —--
0.0~
0 2 4 6

Object Number

InitD

InitDev_de (Def=5 Set=17.33)
avg1=15.83711% avg2=17. 33

-

Vi

20 -

15 1

10

0 2 4 6

Object Number



P3-2-16-21 P3-£+24-18 P3-2-40-6
1.0] 15 Linear [0.44, 4.06, -9.22, 0. 99]/6/

@/‘

Linear [0.47, 4.2, -9.0,

Linear [0.47, 4.26, -9.12, 0.99]

15 4

10 - 10 1 .

10

0 0
2 A Rt e Y~ ~ 5 0————————————===Cr-o——c-—— 5 0--————-———————5[:\—_—————
T T T T T _1 T T T T T _1 T T T T T
0 10 20 30 40 0 10 20 30 40 0 10 20 30 40
P3-2-55-28 P3-2-9-8

Linear [0.46, 4.23, -9.12,

15 Linear [0.42, 3.88, -9.28, 0.98]

10




P.’i‘—{_%?vg

15 1

10 4

Linear [0.41, 4.95 -11.99,




P3-2

a (Def=0.42 Set=0.41)
avg1=0.é§;§% P%ﬁf:0'41~3%

0.3 A

0.2+

0.1 -

0.0 -

2 3 4 5 6 7
Object Number



LN

o By Start Date o By Plant/Organ Age

_1 . 0 T T T T T T T _1 . 0 T T T T T T T
24 26 28 30 32 34 36 38 40 0 5 10 15 20 25 30 35 40




P3-2-16-21

Linear [3.56, —10.54, 2.96, 0.99]

100 -
75 A
50 -
25 -
0
0_
-1 T T T T T
0 10 20 30 40
P3-2-55-28
100 Linear [3.19, -7.72, 2.42, 1.0] F,/
. /ﬁ
50 A
- /
0—-—————————3'-tUF___
_1 T T T T T
0 10 20 30 40

P3s+24-18
100 Linear [3.42, -6.9, 2.02, 0. 99;//
75 1 2
50 -
25
0
O—-————————————E‘;?-———
-1 T T T T T
0 10 20 30 40
P3-2-9-8
100 ~ Linear [3.27, -11.74, 3.59, 1_oizf)2/,/f
75_ //{
50 /
25 A //
0 ,
0 H————de =\ L=
_1 T T T T T
0 10 20 30 40

P3-2-40-6

100

75 -

50 -

25 A

Linear [3.62, -11.15, 3.08, I.y

<




P3-2

a (Def=3 Set=3.42)
avg1?§Qﬂ%~§%+ﬁvg2=na

0 1 2 3 4 5

Object Number




StH

By Start Date By Plant/Organ Age

-1.0 : : : : : : : : -1.0 : : : : : : :
200 22.5 25.0 27.5 30.0 325 350 37.5 40.0 0 5 10 15 20 25 30 35 40
1.0 1.0
0.5 1 0.5
0.0 frmmmm e
0.5
-1.0 : : : : : : : : -1.0 : : : : : :

200 22.5 25.0 27.5 30.0 32.5 350 37.5 40.0 0 5 10 15 20 25 30 35 40



P3-2-16-21

Linear [0.18, -1.52, 8.49, 0.98]

3_
2_
14 /
0 /
0_ ________________ \ ________
-1 T T T T T

0 10 20 30 40

P3-2-55-28
Linear [0.18, -1.52, 8.49, 0.98]

3_
2_
11 /
. yd
0_ ________________ \ ________
_1 T T T T T

0 10 20 30 40

P3FeN24-18
Linear [0.18, -1.52, 8.49, 0.98]
3 4
2
1 . 4
0 /
0 A S — k ________
-1 T T T T T
0 10 20 30 40
P3-2-9-8
Linear [0.18, -1.52, 8.49, 0.98]
3 4
2
1- /
. yd
e it sy

P3-2-40-6

Linear [0.18, -1.52, 8.49, 0.98]

5
5
1 /
. yd
U e B S| it sty
S04 | | | |

0 10 20 30 40



UF

Py eve

Linear [0.16, -1.12, 6.98, 0.98]




175 4

. 150 4

. 125 4

. 100 ~

. 075 ~

. 050 ~

. 025 ~

. 000 -

a (Def=0.14 Set=0.16)

0 1 2 3 4 5 6

Object Number




By Start Date

26

28

30 32 34

36

38

24

26

28

30 32 34

36

38

40

TsN

By Plant/Organ Age

1.0

0.5

_10 T T T T T T T

1.0

0.5

0.0 frmmmm e

-0.5 A

_10 T T T T T T T




P3-2-16-21T1 (fit failed)

30.0 30.5

31.0

31.5

32.0

P3-2-40-6T2 (fit failed)

38

T
39

T
40

P3-2-9-8T1

Linear [0.65 -10.89, 16.66, 1.0]

UF

p3-2-16-2TTY (fit failed)

.0 A
5
0 4
.5 A
.0 A
5
0 T T T T
38 39 40 41
P3-2-55-28T1
6 - Linear [0.38, -5.11, 13.37, 0. 97]/
4 A /
2 1 /
0
N—
QpF——————rr e =
-1 T T T T T
0 10 20 30 40

P3-2-40-6T1 (fit failed)

30.5

P3-2-55-28T2 (fit failed)

31.0

31.5

32.0

38

39

40

41



P3-2

a (Def=0.45 Set=1.09)
avgl =8.Q5_2;3E°:'\fvg2:na

0.5

T T T
1.0 1.5 2.0
Object Number

2.5

3.0



By Start Date

38 39 40

32 33 34 35 36 37

38 39 40

FrN

1.

0.5 -

0.0 -

-0.5 A

-1

1.

0.5 -

0.0 A

-0.5 A

-1

0

0

0

0

By Plant/Organ Age

10

15 20 25 30

35

40

10

15 20 25 30

35

40

45



P3-2-16-21T1Fr1 (fit failed)

. 20 -

.15 1

.10 A

. 05 ~

@

.00 L2

30.0

32I. 5 35I. 0 37I. 5 40I. 0
P3-2-24-18T1Fr1 (fit failed)

.14 4

.12 1

.10~

. 08 -

. 06

. 04 1

.02 ~

.00 L%

O

O

T
30.0

32I. 5 35I. 0 37I. 5 4OI. 0
P3-2-40-6T1Fr5 (fit failed)

. 04 1

.03 A

.02 1

.01 1

D

.00 12

T
30.0

32.5 35.0 37.5 40.0

o O o o

P3—2—16—21Tﬁ¢¥5 (fit failed) P3-2-16-21T2Fr1 (fit failed)
0. 08 ~ ® )
. 0020 -
0. 06
. 0015 -
0. 04
° .0010 -
O
0.02 1 o . 0005
O
@]
0. 00 (I) T T T T . 0000 T T T T
30.0 32.5 350 37.5 40.0 38 39 40 41
P3—-2-24-18T1Fr5 (fit failed) P3-2-40-6T1Fr1 (fit failed)
0.12 ® 0O
0.10 0. 20 -
0. 08
0.15 -
0. 06 ©
O
0.10 -
0.04
(]
0.02 - * 0-051 o
O
O
0.00 19 | | | | 0.00 -9 | | | |
30,0 32.5 350 37.5  40.0 30,0 325 350 37.5 40.0
P3-2-40-6T2Fr1 (fit failed) P3-2-55-28T1Fr1 (fit failed)
()] O
0014 0.10 -
0012
0. 08 -
.0010
o
0008 - 0. 06
. 0006 - 0. 04 -
' o
.0004 -4
0.02 - bS
. 0002
o
. 0000 T T T T 0 00 T T T T T
38 39 40 41 30 32 34 36 38




P3-2-55-28T1Fr5 (fit failed)

. 0020

. 0015 -

. 0010

. 0005 -

. 0000

0]

O

o

. 0030

. 0025 -

. 0020 -

. 0015

.0010 -

. 0005

. 0000

3I6 3I7 3I8 3I9 4I0 4I1
P3-2-9-8T1Fr5 (fit failed)
0
O
L]
3I6 3I7 3I8 3I9 4IO 4I1

P3-2-55-28T2FY1 (fit failed)

0. 0020 -

0. 0015 A

0.0010 -

0. 0005 A

0. 0000

0]

O

38

39 40

41

P3-2-9-8T1Fr1 (fit failed)

0.10 -

0.08

0. 06 -

0. 04 -

0.02

0.00

()]

30.0

32.5 35.0 37.5 40.0




P3-2-16-21L10 (fit failed)

A 40

O

O

32.5

35.0

37.5

40.0

P3-2-24-18L6 (fit failed)

O
P @)
©]
O

O

T T T
25 30 35 40

P3-2-55-28L10 (fit failed)

870

o

p3-2-16-2H? (fit failed)

©]
® O
(©]

O

25

30

35

P3-2-40-6L6 (fit failed)

40

P3-2-24-18L10 (fit failed)

1.0 A

0.8 ~

0.6

0.4+

0.2+

0.0

O

(©)

O

©]

o

O

o
L

30.0

32.5

35.0

37.5

40.0

P3-2-40-6L9 (fit failed)

25

T
30

P3-2-55-28L7 (fit failed)

T
35

40

@)

O

)

)
L 4

(@]

O

25

30

35

40

.75 1

.90

.25 A

.00 ~

.75 1

.90

.25 A

©

O

.00

30.0

T
32.5

T
35.0

T
37.5

T
40.0

P3-2-9-8L6 (fit failed)

Q

O

o
v

@)

O

©]

25

30

35

40

O




P3-2-9-8L9 (fit failed)

@)

D

@

LfA



FI_dm (Def=5 Set=6.18)
avg1=6. 18713% avg2=5. 84721%

8 1 o o o) 9]
()
e o . ®—————
=-=---=Z= —e-_-= —Q9—- -
6 ® ‘r.- ‘<.- ‘W.
(9]
54
o
2_
0_
T T T
0 5 10 15
Object Number
FrV_de (Def=15 Set=15)
avgl=na avg2=na
1.0
0.8 A
0.6
0.4 -
0.2 A
00 T T T T
0.0 0.2 0.4 0.6 0.8 1.

Object Number

2.0 A

1.

1.

0.5 A

0.0 -

Fl_de (Def=5 Set=6.18)

avg1=6.A8=P3%Plheg2=5. 84" 21%

= 9% -

Object Number

FrN_a (Def=0.45 Set=0.72)

avgl1=0. 72731% avg2=0. 93

T
5 10 15

Object Number

5 10 15

1.0

FrV_dm (Def=18 Set=18)
avgl=na avg2=na

0.8 -

0.6 -

0.4 -

0.2 4

0.0

0.

T T
0 0.2 0.4 0.6 0.8 1.
Object Number

FSDdevStage (Def=0.01 Set=0.01)
avg1=0. 087108% avg2=0. 17104%

0. 25 -

0. 20 A

0. 15 -

0.10 A

0. 05 -

0. 00

0 5 10 15

Object Number




FGDdevStage (Def=0.7 Set=0.7)
avgl=na avg2-na

0.0

T T
0.2 0.4 0.6 0.8
Object Number

FHDdevStage (Def=1.5 Set=1.5)
avgl=na avg2=na

1.

0.0

T T
0.2 0.4 0.6 0.8
Object Number

1.

0

FMBDdevStage (Def=1.3 Set=1.3)
Pt Pheg2=na

1.0

0.8 -

0.6

0.4+

0.2~

0.0

0.0

T T
0.2 0.4 0.6 0.8
Object Number

NNgen (Def=10 Set=7)
avgl1=7.078% avg2=7.4

1.

T
5 10 15
Object Number

1.0

FMEDdevStage (Def=1.8 Set=1.8)
avgl=na avg2-na

0.8 -

0.6 1

0.4~

0.2~

0.0

0.0

T T
0.2 0.4 0.6 0.8
Object Number

1

0



age=20

0. 028 -

0. 026

0. 024 ~

0. 022 ~

0. 020 ~

0.018 ~

avg

30

32

34

36

38

40

LfA: avg vs.

age=25

d at each age group

. 045 -

. 040 ~

. 035 A

. 030 -

. 025 ~

. 020 -

.015 4

—

avg

25.0

27.5

age=30
0. 045 - : avi
0. 040 -
0. 035 ~
0. 030 ~
0. 025 ~
0. 020 ~
25.0 27.5 30.0 32.5 35.0 37.5 40.0
d




LfA: model est vs obsOv@Q50

. 034 ~

. 032 -

. 030 ~

. 028 -

. 026 ~

. 024

. 022 ~

g50

est

20

22 24 26
age

28

30




DeltaTypeAbbr=GrpByAge

P3-2 LfA: D 5d LfA
DeltaTypeAbbr=GrpByDay

DeltaTypeAbbr=WeiAvgByD

40 - —4—  pcrDelta_avg —4—  pcrDelta_avg —4—  pcrDelta_avg
pcrDeltaAdj avg pcrDeltaAdj avg 15 - pcrDeltaAdj avg
15 3 1
30 A | S
20 A 10 10
10
;- 5 5 A
g J A I I SO DU U U
-10 - o+ —————— O e e T s
20 22 24 26 28 30 25.0 27.5 30.0 32.5 35.0 37.5 40.0 25.0 27.5 30.0 32.5 35.0 37.5 40.0
d d d




DeltaTypeAbbr=GrpByAge

P3-2 LfA: D _15d LfA
DeltaTypeAbbr=GrpByDay

DeltaTypeAbbr=WeiAvgByD

60 - —4—  pcrDelta_avg 60 - —4—  pcrDelta_avg 60 - —4—  pcrDelta_avg
pcrDeltaAdj avg pcrDeltaAdj avg pcrDeltaAdj avg
40 40 40 A
20 A 20 A 20 A
I o e e o R B L o s S o B R R L o s S o B R R
20 22 24 26 28 30 25.0 27.5 30.0 32.5 35.0 37.5 40.0 25.0 27.5 30.0 32.5 35.0 37.5 40.0
d d d



DeltaTypeAbbr=GrpByAge

15
—4—  pcrDelta_avg
10 4 pcrDeltaAdj avg
5 -
OfFd—mmrm et T e e ]
_5 -
_10 -
20 22 24 26 28 30

P3-2 LfA: D Q50 LfA
DeltaTypeAbbr=GrpByDay

20 A —4—  pcrDelta_avg
pcrDeltaAdj avg
10 7 p 8
[ P A AP N Bpsys— S 5= BRI
_10 -
_20 -
_30 -
25.0 27.5 30.0 32.5 35.0 37.5 40.0

DeltaTypeAbbr=WeiAvgByD

20 4 —4— pcrDelta_avg
pcrDeltaAdj avg
10 A |
(o A A Aol A ——— = o SO
_10 -
_20 -
_30 -
25.0 27.5 30.0 32.5 35.0 37.5 40.0
d



40

P3-2 LfA: D_Est_LfA

DeltaTypeAbbr=GrpByAge DeltaTypeAbbr=GrpByDay DeltaTypeAbbr=WeiAvgByD
—4—  pcrDelta_avg 40 —4—  pcrDelta_avg —4—  pcrDelta_avg
pcrDeltaAdj avg pcrDeltaAdj avg 20 pcrDeltaAdj avg
30 A
! 20 - 1
20 -
10 -
10
0 e e e
—-I‘_____-I’______:______II ______ it—— |_- 0_—-:____-:____7____1 _____ —  —— T — T T T T T T T
20 22 24 26 28 30 25.0 27.5 30.0 32.5 35.0 37.5 40.0 25.0 27.5 30.0 32.5 35.0 37.5 40.0



.00
.15
.50 1
. 25 A
.00 ~
.75 A
.50 A
. 25 A

.00

LfA:

sfDem

—O—

sfDem

16

18

20

22

24

26

28

30




26 -
27 -
28 -
29 -
31 -
32 -
33 -
34 -
35 -
36 -
37 -
38 -

39 -

« -

40

- 20



NdD: avg vs. d at each age group

age=20 age=25 age=30
—4—  avg 14.5 4 —4— avg —4—  avg
14.0 - 151
13.5 14
13.0 1
12.5 13 1
12.0 1
12 4
11.5 4

36 38 40 26 28 30 32 34 25.0 27.5 30.0 32.5 35.0 37.5 40.0
d d d
age=35 age=40
1.0
+ avg 15 00 i + avg
0.8 1
14.75 A
14. 50 - 0.6 -
14. 25 -
0.4+
14. 00 -
0.2 A
13. 75 1
T T T T T T T T T 0 0 T T T T
33 34 35 35 36 37 38 39 40 0.0 0.2 0.4 0.6 0.8



NdD: model est vs obsOv@Q50

144~ a0
est
12 4
10 +
8 .
6 .
20.0 22.5 25.0 27.5 30.0 32.5 35.0 37.5 40.0

age




P3-2 NdD: D_b5d_NdD

DeltaTypeAbbr=GrpByAge DeltaTypeAbbr=GrpByDay DeltaTypeAbbr=WeiAvgByD

10 4

—4—  pcrDelta_avg 104 T —4—  pcrDelta_avg 104 = —4—  pcrDelta_avg
pcrDeltaAdj avg pcrDeltaAdj avg pcrDeltaAdj avg
8 1 8 1 1
6 6
__________________________________ 4 4
2 1 2 1
L o s S o B R R L o s S o B R R
20 25 30 35 40 25.0 27.5 30.0 32.5 35.0 37.5 40.0 25.0 27.5 30.0 32.5 35.0 37.5 40.0
d d d




DeltaTypeAbbr=GrpByAge

P3-2 NdD: D _15d NdD
DeltaTypeAbbr=GrpByDay

DeltaTypeAbbr=WeiAvgByD

| —4— opcrDelta_avg —b—  pcrDelta_avg | —b—  pcrDelta_avg |
30 A | pcrDeltaAdj avg | 30 - pcrDeltaAdj avg I 304 pcrDeltaAdj avg |
20 A 20 A 20 A
10 + 10 + 10 +
1 RS 6 A S A S A
20 25 30 35 40 25.0 27.5 30.0 32.5 35.0 37.5 40.0 25.0 27.5 30.0 32.5 35.0 37.5 40.0
d d d




DeltaTypeAbbr=GrpByAge

_10_

T VIR S AR TSRS, S S . .

——

pcrDelta_avg

pcrDeltaAdj avg

20

40

P3-2 NdD: D Q50 NdD
DeltaTypeAbbr=GrpByDay

54 —$— pcrDelta_avg
pcrDeltaAdj avg
Ot — = N ———————————————— ]
_5 -
_10 -
-15 1+
25.0 27.5 30.0 32.5 35.0 37.5 40.0

DeltaTypeAbbr=WeiAvgByD

_10_

_15_

——

pcrDelta_avg
pcrDeltaAdj avg




DeltaTypeAbbr=GrpByAge

P3-2 NdD: D Est NdD
DeltaTypeAbbr=GrpByDay

DeltaTypeAbbr=WeiAvgByD

60
g0 4 ¢ —4—  pcrDelta_avg 60
pcrDeltaAd] avg 1T 50
50 14 &
60 - 40 -
40 -
—4—  pcrDelta_avg 30 - —4— pcrDelta_avg
40 + 30 1 pcrDeltaAdj avg pcrDeltaAdj avg
20 a 20 .
20 -
10 A 10 A
N I_ - Y A
20 25 30 35 40 25.0 27.5 30.0 32.5 35.0 37.5 40.0 25.0 27.5 30.0 32.5 35.0 37.5 40.0
d d d



.00

.75 A
.50 A
. 25 A

.00

NdD:

sfDem

—O—

sfDem

16

18

20

22

24

26

28

30



25 -
26 -
27 -
28 -
29 -
30 -
31 -
32 -
33 -
34 -
35 -
36 -
37 -
38 -

39 -

« -

40

- 20



dStH:

avg vs.

d

avg

20.0

22.5

25.0

27.5

32.5

35.0

37.5

5] |
51 4




dStH: obsAvg vs obsO0v@Q50

3.5 - ° —— 450
- est
o avg
3.0 -
[ ) ® ®
2.5 A L J ®
[
2.0 $
® ®
1.5 1 [ )
20.0 22.5 25.0 27.5 30.0 32.5 35.0 37.5 40.0




dStH: D_b5d_StH

——

pcrDelta_avg

32.5

35.0

37.5




dStH: D_15d_StH

—4— pcrDelta_avg

20.0 22.5 25.0 27.5 30.0 32.5 35.0 37.5 40.0



dStH: D_Q50_StH

—4— pcrDelta_avg

20.0 22.5 25.0 27.5 30.0 32.5 35.0 37.5 40.0



dStH: D_Est_StH

—4—  pcrDelta_avg

20.0



.00
.15
.50 1
. 25 A
.00 ~
.75 A
.50 A
. 25 A

.00

dStH:

sfDem

—@— sfDem

10.0

12.5

15.0

17.5

22.5

25.0

27.5

30.0




20 -
21 -
22 -
23 -
24 -
25 -
26 -
27 -
28 -
29 -
30 -
31 -
32 -
33 -
34 -
35 -
36 -
37 -
38 -

40

- 20



FrV:

FrO1 vs Fr2 NA at each truss

organ|D=TO1
—}— FrOtlavg
26 -
24 1
22
20 4
18 7 Warning: col ['Fr2_NAavg' ]| is missing
14. 2 14. 4 14.6 14.8 15.0 15.2 15.4 15.6 15.8

age




FrV trend at each age

age=15
26 —}— FroOtlavg
24
22
20
18 7 Warning: col ['Fr2 NAavg' ] is missing
T61

organlD




FrV: model

Est vs obsFrV at Q90

25 -

24

23 A

22 -

21 -

20 -

19 -

Warning: col ['Fr2 NA est’'] is missing

q50
FrO1_est

14.2

14. 4 14.6

14.8

15.0
age

15.2

15.4

15.6

15.8




FrV: obsFrV vs obsFrV@Q90

30

25 ~

20 A

15 4

Warning: col ['Fr2 NA_avg'] is missing

q50
FrO1_avg

14.2

14. 4 14.6

14.8

15.0
age

15.2

15.4

15.6

15.8




1.0

0.8 A

0.6

0.4 A

0.2

0.0

FrV: D Fr1 FrV
organ| D=1

Warning: col ['dlavg’,

"dlaavg’'] missing

0.0

0.2

0.4

0.6

0.8

1.




1.0

0.8

0.6

0.4 A

0.2

0.0

FrV: D Ts FrV
organ| D=1

Warning: col [ d2avg’,

"d2aavg’' ] missing

0.0

0.2

0.4

0.6

0.8

1.




0.3 -

0.2+

0.1+

0.0 -

_0_1_

FrV: D_Q50 FrV
organ|D=1

-0.2 -

——

14. 8 15.0 15.2 15.4 15.6
age




P3-2 FrV: D_Q50_FrV

80 -

60 -

40 ~

20 A

—4—  pcrDelta_avg
pcrDeltaAdj_avg




FrV: D _Est FrV
organ| D=1

0.1 4

0.0~

_0_1_

-0.2 A

-0. 3 -

—0.4 -

——

_0_5_

ddavg
d4aavg

14.2

14. 4

14.6

14.8

15.0
age

15.2 15.4 15.6 15.8



© 40.0 -

40

- 20



19.0 -
20.0 -
21.0 - 40
22.0 -
23.0 -
24.0 -
25.0 -
26.0 —
27.0 -
28.0 -
29.0 -
30.0 -
31.0 -
32.0 -
33.0 -
34.0 -
35.0 -
36.0 -
37.0 -
38.0 -
39.0 -

41.0 -




